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œ œ œ œ œ œ
œ œ

œ œ

œ œ

œ œ œ
œ œ=

œœ=
œœ=

œœœœ
= œœœœ

=

)

œœœœ
=

21

3

%
>

ααααα

ααααα

64
− −− −œœµµ

= œœ
≥ œœ

=

↓

‰ Ι
œœ
≥ œœ

=== œœ
= œœ

=
3œœœœµ =

œ
=
œ œµ œ œ œµ œ

œ œ œ œ œ
œ œ

œ œ
œ œ œ œµ œ=

œœ œœ

œœœœ
= œœœœ

=

)

œœœœ
=

21

3

%
>

ααααα

ααααα

65
− −− −œœ

= œœ
≥ œœ

=

↓

‰
œœ œœ

œœ œœ
== œœ

== œœ
=

3 3œœœœµ =

œ
=

œµ œ œ œµ œ œ œ œ œ
œ œ

œ œ

œ œ
œ œ œµ œ œ=

œœ=
œœαα =

œœœœα = œœœœ=

)

œœœœ=

21

3

%
>

ααααα

ααααα

66
œœ
== œœ

== œœ
= œœ

== œœ
= œœ

= œœ
= œœ

= œœ
= œœ

= œœαα
= œœ

=

3 3 3 3œœœœα =

↓

œœœœ= œœœœ= œœœœ= œœœœ= œœœœ= œœœœ= œœœœ= œœœœ= œœœœ= œœœœ= œœœœ=

)3 3 3 3

rit.

−−−−œœœœµ = œœ
≥ œœ

≥ œœ
≥ −−−−œœœœ

= œœ
≥ œœ

≥ œœ
≥

3 3

œœœœµ =

↓
œœœœ=

œœœœ
= œœœœ=

a tempo rit.
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%
>

ααααα

ααααα

≤ ≤
68

˙̇̇̇µ =
œµ œœœ œµ œ

œα œ œ œœœœœœ œ œµ
œœœ œµ œ œ œ œµ œ œ œ œ

Τ

28

˙̇̇̇µ =

Adagio

a tempoÎ

˙

œµ œœœ œµ œ
œ œ œ œœœœœœ œ œµ

œœœ œµ œ œ œ œµ œ œ œ œ

28

Ο

˙

˙̇̇̇=

˙̇̇̇=

)

Î

Presto

%
>

ααααα

ααααα

71

œµ œœœ œ œœœ œ
œœœ œ

œœœ œµ
œœœ œ

œœœ œµ œœœ œ œœœ
ϖ

œ
œœœ œ

œœœ œµ
œœœ œ

œœœ œµ œœœ œ œœœ œ

œœœ
œ

œœœ

ϖ

œµ
œœœ œ

œœœ œµ œœœ œ œœœ œ
œœœ œ

œœœ œµ
œœœ œ

œœœ

ϖ

%
>

ααααα

ααααα

√ ≤ √

√
74

œµ œœœ œ œœœ œ
œœœ œ

œœœ œµ
œœœ œ

œœœ œµ œœœ œ œœœ

ϖ
%

œµ œ œ œ œ œ œ œµ œ œ œ œ œ œ œ œ
ϖϖϖϖ
œµ œ œ œ œ œ œ œµ œ œ œ œ œ œ œ œϖϖϖ

œµ œ œ œ œ œ œ œµ œ œ œ œ œ œ œ œ
œµ œ œ œ œ œ œ œµ œ œ œ œ œ œ œ œ

%

%

ααααα

ααααα

77 œµ œœ œ œœ œ œµ œ œ œ œ œ œ œœ
œµ œœ œ œœ œ œµ œ œ œ œ œ œ

œœ>

œµ œœ œ œœ œ œµ œ œ œ œ œ œ œ œœµ œœ œ œœ œ œµ œ œ œ œ œ œ œ œ

œœ=
Œ

œœœœ
=
Œ% >

œœ=
Œ

↓

œœœœ
=
Œ

œœœœ
=Τ Œ Ó

œœ

Τ

)
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